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(1) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(i) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(11) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on
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If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
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Use only Blue/Black Ball point pen.
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SOCIOLOGY

Paper III

THSTIME
quusTeRt 111

Time Allowed : 2% Hours]
Note : This paper contains Seventy Five (75) multiple choice questions, each

[Maximum Marks : 150

question carrying Two (2) marks. Attempt A// questions.

U SRd. @E U Wi

oAl : A YA THY UeEal (75) dgudEl WA fool ofRd. Yosh WA & (2)

Which state has the highest
proportion of scheduled castes
population as per 2011 census ?

(A) Chhattisgarh
(B) Mizoram

(C) Punjab

(D) Uttar Pradesh

According to Weber, Bureaucracy is

(A) A response to administrative
requirements of Industrial

societies

(B) A response to demand for
efficiency and rational

organization

(C) A response to science and

technology

(D) A response to market forces for

augmentation of profits

2011=T STTTOHYHTO SRl ISTd
ST ST SR JHT Helifeen

e ?

(A) =AETE
(B) o
(C) gsTsl
(D) SIS

A9ITIT HA, ATHIINE TS

(C) fagm enfor oA gfadre

(D) %I ARTVIATHST ATSIAST YT

BIGESIH
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Match the List I with List II and
select the correct answer from the

codes given below :
List I

(a) Giddens

(b) Derrida

(¢ Habermas

(d) Alexander
List II

(1) Structuration

(2) Neo-Marxism

(3) Deconstruction

(4) Neo-functionalism

Codes :

(@ b (o (@
@ @O & 2 @
B 3 2 @O @
© GO 2 B @

D @ & QO @
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(a) few

(b 2fter

(¢) TeHH
(d) ST
Tt 11

(1) |
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Which of the following is not an
example of intergenerational conflict

based on gender ?

(A) Mother forcing daughter to

laugh in a low voice

(B) Father banning daughter to
attend college

(C) Senior boss dominating young

colleague

(D) Mother-in-law forcing daughter-

in-law to leave job

Domestic violence includes which of

the following :

(1) Physical violence
(7)) Mental Torture
(ii1) Sexual Abuse
(zv) Social Exclusion

Select the correct answer from the

codes given below :
(A) (1) and (i)
(B) (1), (i) and (i)
(C) () and (iv)

(D) (1), (i) and (iv)
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EeicTdeh] hIvd SeTeLu fATTomETeR

S AUl Tee Sedul ATl 2

(A) STEH STUea Heliell 83 STaTSIa
TAUIT ORGS0l

(B) Tucam Heften weifa=meraren Sroar=h
T

(C) afts3 AR TE0 HehATaX
TS S0

(D) IR et Arehdl AISvar SoRawit
HL0

Nt o

Hrefas fEammrE qeadst S
HHETT Bl ?

(1) IRIE FAER

(i) S BB

(1i7) TR BB

(fv) |HIfSIeR afstaar

Qe feeiea Hehdihmyd ard St ferer
(A) (1) 7o (i)

(B) (1), (ir) 30T ()

(C) (2) v (4v)

(D) (1), (i) Ao (4v)
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Habermas focuses on .................. .

(A) Structure and institution

(B) Macro-Micro

(C) Knowledge and human interests

(D) Culture and agency

Displacement is forcible removal of
population for developmental
projects. Which example from the
following list does not indicate

displacement ?

(A) Highway construction

rehabilitation

(B) Migration to new township

(C) Rehabilitation due to wildlife

sanctuary

(D) Rehabilitation due to dam
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(B) ®I-g&H
(C) I sufor Amel feagey

(D) St i e

EEARPETE b SICas eIl G e

A0 WU foed . @t Feieht

e o gfed @ A ?

(A) HEMT Seviges gAaad

(B) 7o TSARIIHE T

(C) AYIRTATS TAeEH

(D) RO Hadd




According to which five year plan
of India “With a growth rate
averaging 8.7 percent, India has
become one of the fastest growing

economies in the world”.

(A) 10th plan

(B) 9th plan

(C) 12th plan

(D) 11th plan

Select the pair of percentages for
schedule castes and scheduled tribes

in India in 2011.

(A) 18.2 and 16.2

(B) 16.2 and 20.2

(C) 29.2 and 16.2

(D) 16.2 and 8.2
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RV GIAT SR ASTATHR TRAT
refaE EH 8.7 THh IS
S Tt 9T STeURT - sTefeae
A ?

(A) T I

(B) erell Il

(C) aet s

(D) ST ST

LA 2011 Hied! STEomT=a1 ST{gfed Sl

LN

ST STTYad ST TFhaRI=l Sel

REE

(A) 18.2 =i 16.2
(B) 16.2 U 20.2
(C) 29.2 =ffur 16.2

(D) 16.2 AT 8.2
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10.

11.

12.

Which theory is regarded as a
summary of Giddens’ sociological

writing ?

(A) Structuration
(B) Structuralism
(C) Deconstruction
(D) Post-modernism

Which state has highest number of
slumblocks in India as per 2011

Census ?

(A) Maharashtra

(B) Delhi

(C) Karnataka

(D) Gujrat

WID approach focuses on :
(A) Gender mainstreaming
(B) Gender segregation

(C) Incorporating women in

development activities

(D) Gender equality

10.

11.

12.
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e fagiarere fire~g=n IHeensiy

AT GRS WA el dgd 2
(A) HTEHTRTT

(B) HT=AER

(C) fo=r

(D) SMYfTehiaiers

201141 SIFUHIER SASUg! JHRT=

gald S T8 vl T Id 2

(A) HERI
(B) feeeit
(C) HAleH

(D) TR

T 3.1 (WID) gteeha helme W’
<dl ?

(A) faTvE &9 yaE@ o

(B) fermyma fases

(C) fawmmgfasas IuwATa ferar=n
Aqufa

(D) femyme TqHEar




13.

14.

15.

The Telangana movement had

begun in 1946 in the .................... .

(A) district of

Hyderabad state

Warrangal

(B) Bidar district of Hyderabad state

(C) Nalgonda district of Hyderabad

state
(D) Dinajpur district of Bengal state

Post-modernism is associated with
which society ?

(A) Post-Industrial

(B) Modern

(C) Industrial

(D) Capitalistic

Who

attributed regional

inequalities in developing countries

to the ‘Spiral of cumulative

causation’ ?

(A) Gunnar Myrdal
(B) Samir Amin
(C) Karl Marx

(D) Amartya Sen

13.

14.

15.
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a('-i”U” \'Hiq‘]ﬂv-[ 1946 _q,ﬁ ................. ﬁa

gE @l

(A) TTEE T TS TS

(B) TgrEe TsAde faey e
(C) TIEE Teame Teriel e
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16. Foucault’s research interests were

broadly in three areas of history.

Which are they ?

(I) Study of psychiatry

(IT) Medicine

(ITII) Penology

(IV) Education

Select the correct answer according

to the codes given below :

(A) (I) and (II)

(B) (ID), (III) and (IV)

(C) (D), dI) and (III)

(D) (), (III) and (IV)

JAN - 14318/III—D

16. el AT SIS WMEAM I asae

TN T BIdl. o hIvt & 3Ted 2

(D =R 319

(II) JAHIME

(IID) TSI

(IV) f3re1o7

T feeied Hendished ard S et

(A) (I) swfor (ID)

(B) (D), (III) =Afor (IV)

(C) (), (IT) for (I1D)

(D) (D), (1) i (IV)
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17. Deviance

is relative because

There is no absolute way of
defining confirmity and deviant

behaviour

17.
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fouerma ® 9rel 2me SR

(A) foaermd = o7for sT{&aar A=t

o

(-l

Id FRSAT hial Id ATl

(B) STl Yoddlel 3THdAd

(B) Law has loopholes
(C) Deviance is absolute (C) fogerma fafvea o
(D) Deviance is seen as
dysfunctional to society (D) SIS ferae g T
18. In the current neoliberal 18. 3{ST=AT :‘ama'ﬁ STfdeh e LOTT=AT
globalization phase, women are o Foar STt ST %
forced to search for jobs. This is
SE WA ?
called :
(A) Feminization of poverty (A) SRS AT
(B) Women as partners in (B) fﬁ'&n‘ W ﬁm]?ﬁa q;"'rﬂa'r{
development
(C) Ty g&a vawmm ST
(C) Mainstreaming gender
(D) Gender equality (D) femse Far
11 [P.T.O.



19.

20.

Which one is the correct statement

about Neofunctionalism ?

(A) Social 1institutions have

universal positive functions

Deviance and social control are

(B)

realities within social system

(C) Only a commitment to common
values provides a basis for order

in society

(D)

Order and stability is essential
for the maintenance of the

social system

Who wrote the book titled “An Essay

on the Principle of Population” ?
(A) Marx
(B) Doubleday

(C) Malthus

(D) Ricardo

19.

20.
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EcATeTdeh! hivd faam Tagehrtee-

fao=ht seR o’ ?

(A) rIfSTeh Tl Grefseh TohRIcHS
M Hd AT

(B) fowermam esnfor gmfsier fAe=ror ®
TS FoEdmeid arda TR

(C) Shad THM YA ST Sfeerht
THTSTAIA S STYR 3T9d

(D) TSI A ShivaTdIS! e
anfor =R} efevIe e d

"3 T 3 T Tuduet it et

7 g & fafed ?

(A) A

(B) oS

(C) HIeIH

(D) fepret
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21. The civilization of India is divided | 21, YRA™ AT FIMH fTUFTEd e ?
into :
(A) & WO S F8d a0
(A) Little tradition and great
tradition ’ ’
(B) WISl U Ul ef8M WO
(B) Big tradition and small
tradition (C) v s B W
(C) Great and short tradition
: o . (D) 23 afor wffes wWaw
(D) Superior and inferior tradition
22. Term ‘Glocalization’ suggests | 22. ‘Tellhel™RRE’ HJ1 "7 e
................. EXGH
(A) Homogeneity between local and (A) i enfor Sfvas e
global culture Th&adl
(B) Major modification of global (B) T SSTRUSHIS! af¥aesh SceAmd
products for local markets THE HieRd
(C) Uniformity between local and (C) Tenfasw enfor Afyas fereroma
global education Th&adl
(D) Professionalization of education (D) Toreroma AEERtHRT
13 [P.T.O.



23.

24.

25.

Who used metaphorical

investigations to study everyday life

of people ?

(A) Erving Goffman
(B) Garfinkel

(C) Luckmann

(D) J. Alexander

The rise of the village is bound up

with the rise of ........ccccceeiiiiin. .
(A) nomadic mode of production
(B) agricultural economy

(C) food gathering economy

(D) barter economy

Jajmani system was ...................... .
(A) an economic system

(B) a social system

(C) a political system

(D) a class system

23.

24.

25.
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A=l efes SaHT=al ASATEHE!
B YhIcHh SISO SYANT hIvll Shedl 2
(A) T TR

(B) TRfw&a

(C) Tg&aA

(D) . TSI

mmm ..................... ers.ﬁ.
Seelell 3.

(A) 9! SR I

(B) Fet Aefeeen

(C) 3T YehoadeR 3 Tefegawen
(D) aEgfafHaER seTia steferesen
\YI\YIHl"ﬂ cqu_[ ..................... 3:"%..

(A) Ts T =gawen
(B) HHINTeh Sqa&e

(C) TSThIT T

(D) o e

14
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26. Jajmani system is characterised by : | 26. SISHMI SHeEdE i
(A) Money economy (A) TemeR emeTia e
(B) Barter system (B) S HAER ST sereen
(C) Political system (C) TSThid Faeen
(D) Religious system (D) enfder =raen
27. Customs are also called .................. 27. ®EA HST WUrdrd
(A) Culture (A) FEwdl
(B) Values (B) 7T
(C) Folkways (C) EhMER
(D) Mores (D) <reRfdr
28. What is the main objective of | 28. SaTdl THETEiel JarRrT G Seed
h Ol ?
Dormitories in tribal community ? EICE
A) S
(A) Sex education (A) fReqoT
(B) hHTh
(B) Entertainment
(C) THAd TRUATE el
(C) Sense of living together
(D) SETeRRIET dre]
(D) Sharing of responsibility
15 [P.T.O.



29. The philosophy of phenomenology

30.

focuses on :

(A) Intersubjective consciousness of

individual

(B) Social structure

(C) Conflicts in society

(D) Functions of social institutions

Eco-Feminism combines insights

from ............ .

(A) Cultural feminism and Marxism

(B) Cultural feminism and

Sustainable development

()

Postmodernism and feminism

(D)

Ecological perspective and

socialist feminism

JAN - 14318/III—D

29. TEARTETE o= Eefeideh! HeTeR

30.

higd Bd 2

(A) TR ATALATKITSS STuie

(B) wmHifSer ELEAl

(C) HHTSIde et

(D) TS HEA=t R

TRRST ST Teiciieh! shivea

sagsal foems oe 2

(A) WERfds SidaE 9 AEaR

(B) Wihfaes A 9 vMad fasm™

(C) SMYTehlcae] d Sitarg

(D) e gfesq 9 IrSER]

L1
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31. The process of globalization 31. SIMIAehIRII Wfsha BTefierich! o
promoted ................. . TR el e 2
(A) Corruption (A) HETEAR
(B) Migration of people (B) WIUTEIS TR
(C) Importance of nation-state ©) {Iw"—{lwla Hee
(D) Global friendship (D) S
32. Gini index/Gini ratio is related to 32. frft frdmmep/firft aqoiteae. e
....................... el e
(A) Inequality and poverty (A) fooman o i
(B) Development (B) forerrareft
(C) Progress (C) WTerelt
(D) Modernization (D) sngfeRteRTomsft
33. Which one of the following is not | 33. WIeysh! IVl STfdehTsHoT= FErEEr
impact of globalization on women ? Qo R A 2
(A) Created new areas of women’s
advancement (A) T W=t et &t o et
(B) Lead to new challenges for ®) s sy e e
women
(C) Not changed fundamental (C) Heqa fermema faoman serett et
inequality of gender
(D) Visibility in media (D) Hred qRad
17 [P.T.O.



34. Who used concept of indexicality in

35.

ethnomethodology ?

(A) Garfinkel

(B) Erving Goffman

(C) Alfred Schutz

(D) Peter Berger

National Policy on Education 1986

laid stress on :

(A) Giving special attention to Arts

and Humanities

(B) Giving attention to

management education

(C) Improving quality of education

at all stages

(D) Restructuring the curriculum

JAN - 14318/III—D

34. CHICHARETE YEQHd & Hehea

35.

I ATREAT 2
(A) TRfRHA

(B) e e
(C) ehs YA

(D) ™ o)

1986 =AT [T Tierfores  &iToma

EciTeTdeh! ShIOTedT Srsiie WY faet 3Te ?

(A) el 9 HHdfagen feomer fag

W QO

(B) =HeEH foreromer. @er <01

(C) e TR frgrom Jorerdn arefao

(D) AR G Lol

18



36. Match List I with List IT and select

the correct answer from the codes

given below :

(a)
(D)
(0
(d

(1)
(2)
3)

4)

List I
Foucault, Michel
Giddens, Anthony
Alexander, Jeffrey
Habermas, Jurgan
List II
The Consequences of Modernity
Discipline and Punish
Human

Knowledge and

Interests

Theoretical Logic in Sociology

Codes :

(A) (2)
(B) (4)
(C) @)

D) (2

(a b (o

1 @ O

@3 @ @

@) @ @

1) 3 @

JAN - 14318/III—D

36. Il I o7for AT 11 =1 e Sosell
3T STt feeiean FehdishMgT JE W
IREEIEE:

(a)
(b)
(o

(d)

(1)
(2)
3)

(4)

RICU|
T, T
fire=g, -

n

TS, IR

CRIGIEASUR

et 11
3 FHfaFeEY 3w wisfHe
fefawefa sfe wwr
fustifesral wffS 37 wifvrerars

K3 -
-
.

A) (2)
(B) @)
C) 2

D) (2)

(@ b ©© @

1 @ O

Q) @ @

@) @ @

1 G @
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37.

38.

Which of the following Ghurye

considers more proper on solution of
the problem of tribals ?

(A) Revivalism

(B) Isolation

(C) Assimilation
(D) Accommodation

Match the List I with List IT and
select the correct answer from the
codes given below :

List I
Srinivas M.N.
Ghurye G.S.
Desai A.R.
Ambedkar B.R.

List II

Annihilation of Caste

(a)
(b)
(©
(d)

(1)
2)
3)
(4)

Peasant Struggles in India
The Mahadeo Kolis

Religion and Society Among the
Coorgs of South India

Codes :

(a)
(A) (4)
(B) ()
C) @)
D) (2)

()
3)
(2)
(1)
3)

(o)
(2)
3)
(4)
(4)

(d)
(1)
4)
3)
(1)

37.

38.
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I STfCaT = UeATeRan hiowl S

Ay I fa=arE Sden e ?

(A) TESSiearR
(B) faerm =

(C) wTHieieRor
(D) Segd =0
et 1 3for et 11 Al Seehi=al Sie

ol F e feiedl Hehdlehqd A

g faer

EIC
Siferg ..
RS IATCS
TEUE TR
JTMEETHT ot 3R

Jret 11
stfafeeem o wRe
T HelRd it
Refiem 3fvg FEmet 3T T i
AE AHY gfead
Hehdlah :

(a)

(A) (4)
(B) (1)
C) 2
D) (2)

(a)
(b)
(0
(d)

(1)
2)
3)
(4)

¢2)
3)
(2)
(1)
3)

(0
(2)
(3)
(4)
(4)

(d)
(1)
4)
3)
(1)

20



39. According to

M.N. Srinivas

important critera to be a dominant

caste include :

I. Land ownership

II. Strength of number

III. Education

IV. High place in local hierarchy

Select the correct answer from the

codes given below :

(A) I, II and IV

(B) I, III and IV

(C) II, III and IV

(D) I, IT and III
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39. TH.TH. e Ar=A 7, THrel S

IT1. ferefor

IV. ¥ Av=Hd Sea T

et feeied Fehdmyd I 3w e ¢

(A) I, I a7 IV

(B) I, TII af IV

(C) II, III smfor IV

(D) I, T1 sfr 111

21

[P.T.O.



40.

41.

Who among the following played a

key role in the professionalization of

Sociology in India ?

(A) Srinivas M.N.

(B) Ghurye G.S.

(C) Desai A.R.

(D) Mukherjee R.K.

The unfavourable alteration of

environment due to human activities

is termed as :

(A) Ecological Disturbance

(B) Catastrophe

(C) Ecological Degradation

(D) Pollution

40.

41.
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YA THISIIISTE ST eh [eh U]

FHITATT WU HIvTt Hewme! JfHeh

ESIESI

(A) #iffame T
(B) & Sf.Ta.

(C) <WE T3

(D) &S 3.

GGG A1 SFABRIHS  IOT=A1

TR SICal

(A) gRfEerdifamm

(B) gt

(C) URErdemsia srerdl

(D) Fg&m
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42. 20% of the population in the | 42. fafaa IvMHET 20% ARG S
developed nations consumes 86% of 86% TEIET SUGAT B T T 3
the world’s goods. This is the ideal e e IR
example of .....c.ccceeeeeeeeennnnn. .

(A) SIFTfder STiE
(A) Global poverty

(B) SmIfaes dwied
(B) Global disparities
(C) Endemic poverty (C) WeRTFTSS FMG
(D) Dimension of poverty (D) == ﬁq

43. Top five states reporting slums | 43. SIS ugifasaes Hhedrld Fald e
........................... U U U
(A) Andhra Pradesh, Chhattisgarh, (A) ST, DTS, HEIURTT, 2SI,

M.P. Odisha, West Bengal . S
(B) Chhattisgarh, Maharashtra, (B) g, HerTe, sifew, #vs,
Odisha, Kerala, Assam
SHH
(C) Odisha, West Bengal, M.P., .
(C) 3fifewm, 4. ofel, HeAyQyl, fo@R,
Bihar, Jharkhand .
ARES
(D) Chandigarh, Gujrat, 0 )
(D) <<ITE, TSR, TREE, 3HH, Hhicd
Jharkhand, Assam, Kerala
23 [P.T.O.



44.

45.

46.

Most common cause of blindness in

India is ....ccceeunnnnenn. .

(A) Anaemia

(B) Vitamin A deficiency
(C) Glaucoma

(D) Cataract

Various ethnic groups, caste groups

and religious groups live peacefully.

What is this called ?
(A) Peacefulness

(B) Secularism

(C) Humanitarianism
(D) Pluralism

India is not an example of

(A) Cultural pluralism
(B) Religious pluralism
(C) Dominance of one group/culture

(D) Linguistic pluralism

44.

45.

46.

JAN - 14318/III—D

TRATATA STEET T3 Haears vl
(A) e (i)

(B) ‘31’ Sfte e ]

(C) ehrafeg,

(D) Hifeig,

IRara fafay aife w9, S 99g,
e T Tadd Teard. ATl A
U 2

(A) T

(B) fierfere

(C) HHEIdATES

(D) dgdcIdrs

e T S T

(A) TEHiqH Fga@aR
(B) #ifHe SgaweR
(C) T FHEEN/FEHd Je&ed

(D) WIfSeh gdcrdR
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47. The Preamble of our constitution | 47. 2T TSHEA=AT YAlfdehd YA § Teh
states that India is @ .....coevevevennne... A e, W fove o o
(A) Sovereign and secular (A) T 7 fremt
(B) Sovereign, socialist, secular, (B) W?ﬂ'ﬁl, TSTaTE!, e, Syt
democratic republic TURTSY

(C) Secular and democratic (C) fredt smfor <Arenrmet

(D) Secular, sovereign and (D) faudt, g eqfor eewsmel
democratic republic TR

48. The problem in Indian socio- | g yude ot smgsmde e
political life is .......cccceenne.e.. .

(A) Secularization is complete
' (A) Fudiw quf st ofme
(B) Secularism is irrelevant for
India (B) YRarEral fedieior gqdes el
(C) There is secularism but not )
(C) Taerdieme e, wig & FeHtn
enough secularization
Bl
(D) Government does not support
secularization (D) T FeHiRToTen widen <a et
25 [P.T.O.



49. The

50.

Kheda Satyagraha was

started in :

(A) March 1919

(B) March 1918

(C) April 1919

(D) May 1920

Miller studied Jajmani system in :

(A) 1947

(B) 1952

(C) 1954

(D) 1956

49.

50.

JAN - 14318/III—D

O HAWE “heal & e ?

(A) 9= 1919

(B) | 1918

(C) WA 1919

D) # 1920

THOA SToATT Faee=n AYqE  hEf
el ?

(A) 1947

(B) 1952

(C) 1954

(D) 1956
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51. Which among the following pairs is | 51. WTclicTueh! IV SISt STHHTV SSara!

not correctly matched ? qEr ?

(A) Giddens — Structuration (A) freH — TR
(B) Derrida  — Deconstruction (B) SRt — faw=m

(C) Habermas — Neo-Marxism (C) o™ — To-HRRER
(D) Alexander — Structuralism (D) STeRATEY — TR

52. Who is the author of ‘Neo- 52. ‘frefi-shenfetfaem &7 9% i’ ¥

colonialism in West Africa’ ? TGF HI S ?
(A) Samir Amin (A) FHR THH

(B) Gunnar Myrdal (B) TR fHete
(C) Eric R. Wolf (C) T IR Ik
(D) Andre G. Frank (D) 313 . Heh

27 [P.T.O.



53.

54.

Which of the following is not a factor

affecting population growth ?

(A) Ethnicity

(B) Fertility

(C) Mortality

(D) Morbidity

Who was of the opinion that
along with industrialisation,

agricultural development is

essential for creation of employment

and productivity ?

(A) Mohandas Gandhi

(B) Adam Smith

(C) Gunnar Myrdal

(D) Andre G. Frank

53.

54.

JAN - 14318/III—D

ETATAeh! Il Teh S2eh ilehde&dl

JSIEE UROTHHRRE A& ?
(A) =fRTeRal

(B) o

(C) Hedan

(D) ot

QSR o1 Scurgsha=ar fAfddranst

NN~ (a}

SETeh IR uTeeRd Fol fashreeia

OIS A® T HIUTH Hd B 2

(A) TreTerd et

(B) 3fen Ty

(C) TR fefa

(D) T3 . e
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55.

56.

In which year ‘Family Planning’ was

renamed as ‘Family Welfare’ ?

(A) 1975

(B) 2011

(C) 2001

(D) 1977

Which one of the following is not a

form of Alienation ?

(A) From product

(B) From production process

(C) From self

(D) From manager

55.

56.

JAN - 14318/III—D

‘gga fEe’ 9 ‘Hea weam’ s™

ATHSRTUT HIUCT IO v ATA ?

(A) 1975

(B) 201

(C) 2001

(D) 1977

TITATATRT HIUTAT IUHAET FHTT

AMEr ?

(A) STICATIRA

(B) 3cURH Hfshaam

(C) *=EURA

(D) HTEATIRTITIYA

29
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57. Match the following :

(a)
(b)
(0

(d)

(1)
(2)

3)

(4)

List I
P. Gisbert
Parker, Brown, Child and Smith
Form and Miller
Galbraith J.K.

List 1I
The New Industrial State
The Sociology of Industry

Fundamentals of Industrial

Society

Industry, Labour and

Community

Codes :

A) )
B) (D
©) @)

D) @)

(a (b (o

2 @ @

@) 2 @

1) @ 3

2 G @

JAN - 14318/III—D

57. Sl @@l

(a)

(D)

()

(d)

(D

(2)

3)

(4)

RICi
. fiee
Ry, S, dlsce ot e
TiH T fHer
A ..
R
T 9 TeEEd Ve
T Geidrst e SSR1

o

STH, TR U Sl

- -
.
.

A 3

B) (D

C) @)

D) 4)

(@ (b

2 @ @D

@) 2 @

1) @ 3

2 G @
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58.

59.

The illumination experiment was

carried out N ...ceenveeeeneennan... .

(A) New York

(B) California

(C) Chicago

(D) Washington

Under which heading the efforts

were made to rerive the structural-

functional theory ?

(A) Structuralism

(B) Post-structuralism

(C) Structuration

(D) Neo-functionalism

59.

JAN - 14318/III—D

(D) aff¥req

HIoredT Tfsishisfand qTaareas -

JehTHaGT= TIGIATe JAessifad shoar

N =
TId hedl el ?

(A) GEAER

(B) SW-GEAERE

(C) ITETRIO

(D) SAYHTEE

31

[P.T.O.



60.

61.

73rd Amendment was enacted in :

(A) 1988

(B) 1989

(C) 1991

(D) 1992

The Telangana Movement was

started against the ...................... .

(A) Nijam of Hyderabad

(B) Zamindars

(C) Moneylenders

(D) Intermediaries

61.
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(A) 1988

(B) 1989

(C) 199

(D) 1992

oY AR ®

fodiema g& =l

(A) Tseme=n frem

(B) SHITER

(C) "R

(D) <
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62.

63.

Sengupta Commission was

appointed to look into ..................... .
(A) Industrial growth
(B) Agricultural crisis
(C) Science

and technology

development

(D) Enterprises in unorganized

sector

Sex ratio in 2011 census of

population of India is :

(A) 1000 males — 927 females

(B) 1000 males — 933 females

(C) 1000 males — 930 females

(D) 1000 males — 940 females

63.

JAN - 14318/III—D

LTI 9] Tl

(A) eTEfTe e

(B) FfugEmia IR

(C) Tomm o ds=mmEn famm™

(D) THEfed i e

IRATA 2011 =1 SIFVHTER AehaEdq

e ToiR. g foRdt o1 2

(A) 1000 g&u — 927 f&rm
(B) 1000 g&u — 933 f&rm
(C) 1000 g&u — 930 f&rm
(D) 1000 g&& — 940 f&rm
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64. Who is of the opinion that the life

65.

world is a micro world where people

interact and communicate ?
(A) Garfinkel

(B) Habermas

(C) Alexander

(D) Giddens

Which statement is not correct about

sustainable development ?

(A) Conservation of ecology is

important in development.

(B) Improvement of the quality of
human life is important in

development

(C) Development should result in

higher per capita income

(D)

Development should reduce

inequalities in access to

resources

JAN - 14318/III—D

64. STSE B T8 F&H S AR, | Al

65.

SATRHAT AT o TG FIEdd, 79 7d

FHIvit AEA ?

(A) TRfR®HA

(B) BERHE

(C) TSR

D) fired

ead foemEremad ivd fagm sler

T ?

(A) TR AL T Hgam
S

(B) foemmam s Wt e oEsme)
GHROT HEcolT=l 7.

(C) TImEmed TERE ST 359 916

ElSIIIES|

(D) foIhTEmed TETEA= SqaeHde

SN

AT HHl STl Tfest
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66.

Neo-Marxism is primarily a reaction

against which component of Marxian

JAN - 14318/III—D

66. TAHTFEATS & YTHEATT HATFEATR]

THRUANe IV Seehiaiial Wik

theroy ? R ?
(A) Class conflict (A) =t Fere
(B) Exploitation (B) STroO
(C) Economic determinism (C) emfde Fefeorrs
(D) State (D) T=F
67. Who argues that agency and 67. Haqul ST HCEH THHRBIRA fawer
structure cannot be separated from LTl I AR, 9 Hd aguﬁ e ?
one another ?
A) firem
(A) Giddens
(B) ehl
(B) Foucault
(C) efer
(C) Derrida
(D) Alexander (D) 3ITAFRIS
85 [P.T.O.



68.

69.

Which is the largest tribe in

India ?

(A) Gond

(B) Bhills

(C) Santhals

(D) Munda

The Commission appointed to

examine enterprises in the

unorganised sector is .................. .

(A) Sachhar Commission

(B) Srikrishna Commission

(C) Sengupta Commission

(D) Ambani Commission

68.

69.

JAN - 14318/III—D

YRATdIA Haid |Gl STHIG hIvdl 2

(A) TS

(B) e

(C) TIB

(D) g

TR AT SENME qreTo

S S ——— e
e

(A) H==R M

(B) s ST

(C) ST 3T

(D) 2t &
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70. Match the List I with List II and

71.

select the correct answer from the
codes given below :

List I (Theories)
(a) Liberal Feminism
(b) Radical Feminism
(¢ Marxist Feminism
(d) Post-modernist Feminism

List II (Arguments)
(1) Class and Gender both
(2) Equality of sexes
(3) Deconstruction and metaphor
(4) Masculinity and violence
Codes :

(@ (b (o (d
@A @O @2 @ @
B @ @®O @ O
o O @ @ @
M 2 @ @O O

Development perspective defines

WOIMEN 8S ..eeevvreeireeeneeenns .

(A) Partners in development

(B) Beneficiary of welfare schemes
(C) Target population

(D) Objects of charity

JAN - 14318/III—D

70. et I 3o et 11 el Seehi=a S

Sl o @l feiea ehdichlqd ard

g ferer
It 1 (Fagia)
(2) SERYIAR] SR

(b) SRITHAAR! Siiers

(¢ HFHARET SR

(d) SMYTehicac! SiaR
et 11 (wferare)

(1) =t efor femama et

(2) e

(8) fo= 9 &4

(4) geoa 9 e

Hehdiah :

(a b (© (d
A 1) 2 B @
B 4 @O @ ©
€ @ @ B3 @
D 2 @ @O G

71. fawmg gfsewiamar o= =os

(B) oAU IS et
(C) 8T ArhEEAl
(D) 3feT T
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72. Match the List I with List II and

select the correct answer from the

codes given below :

(a)
(b)
(o

(d)

(1)
2)
3)

4)

List I
Giddens
Derrida
Althusser
Foucault
List 1I
The Constitution of Society
For Marx
Writing and Differences

Madness and Civilization

Codes :

(@ b (o (d

@A 2 O @ @

B) 1 2 @ O

© @O 3 @ @

M @ 2 B @

JAN - 14318/III—D

72. It 1 Afor At 11 Aefter seahT=an Siredn
S[eeall o THTEe! feeied Hehdishlqd ard
g ferer

RGN
(a)
(b)

(0

1441

(d)
BRI
(1) T HIfEegTA A% HERel
(2) T R
(3) Tafe anfor fewdw
(4) e anfnr fafeemsem
Hehdieh :
(@ b (0 (@
A 2 @O Q) @
B @O @ @ B
© @1 G @2 @

D @ 2 @ @
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73.

74.

75.

Which of the following schedules of
the constitution deals with the
administration and control of
scheduled areas as well as the
scheduled tribes in states other than

Assam, Meghalaya, Tripura

(A) 3rd and 4th schedule

(B) 7th and 8th schedule

(C) 5th Schedule

(D) 10th Schedule

Poverty line denotes ................... .

(A)

Prevailing standards of what is

not needed

(B) Minimum standard of calories

and nutritional intake
(C) Adequate housing
D)

Inadequate money and power

‘Integrated Tribal Development
Project’ was launched in India in the

year ................ .
(A) 1975 A.D.
(B) 1980 A.D.
(C) 1983 A.D.
(D) 1987 A.D.

73.

74.

75.

JAN - 14318/I11—D
TR TSToe= RV ST STE,
HEer™ & 90 g o’ UsHKdiel ST
& 9 STIYfed ST wemes & fes
R TR ?

(A) 30 9 4eft erEEn
(B) 74t = gaft STy
(C) st A=

(D) 105t g
Tieg Y ® e s
(A) TS THR AfK@E 3/ eiel |

(B) S 9 Ulfseeha=al foRAM AR

T
(C) TN 3TE™

(D) AEHIMhRe J41 3Tior gx

‘ThTcHe SATfaTdl foeh™ Wehed ' YRAT
& Fsid & e

(A) 29. 1975

(B) 3.9. 1980
(C) 29. 1983

(D) 3.9. 1987
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ROUGH WORK
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